EPTE] YOSHIMURA

RESEARCH&DEVELOPMENT OF AMERICA, INC.
5420 DANIELS STREET STE A, CHINO CALIF. 91710 - (800) 634-9166 - (909) 628-4722 - FAX (909) 591-2198

www.yoshimura-rd.com

K] YOSHIMURA

RESEARCH&DEVELOPMENT OF AMERICA, INC.

5420 DANIELS STREET STE A, CHINO CALIF. 91710 - (800) 634-9166 - (909) 628-4722 - FAX (909) 591-2198

www.yoshimurca-rd.com

Butt Connector Installation:

1. Strip wire ends 1/4” - 1/2” and insert into
BN-SSS-22-18, butt connectors.

2. Center the spliced wire ends in the middle and
using a heatgun or lighter, apply heat evenly on
the outer edges of the butt connector to shrink
and hold wires in place.

3. Making sure that the stripped ends are centered,
heat the center of the butt connector evenly until
the solder begins to liquify.

4. Allow to cool completely and tug both ends of the
wires to verify that connection is secured.

Scan for link to butt connector instruction video.

Butt Connector Installation:

1. Strip wire ends 1/4” - 1/2” and insert into
BN-SSS-22-18, butt connectors.

2. Center the spliced wire ends in the middle and
using a heatgun or lighter, apply heat evenly on
the outer edges of the butt connector to shrink
and hold wires in place.

3. Making sure that the stripped ends are centered,
heat the center of the butt connector evenly until
the solder begins to liquify.

4. Allow to cool completely and tug both ends of the
wires to verify that connection is secured.

Scan for link to butt connector instruction video.

EP ]2 OSHIMURA

RESEARCH&DEVELOPMENT OF AMERICA, INC.

5420 DANIELS STREET STE A, CHINO CALIF. 91710 - (800) 634-9166 - (909) 628-4722 - FAX (909) 591-2198

www.yoshimura-rd.com

EPTE] YOSHIMURA

RESEARCH&DEVELOPMENT OF AMERICA, INC.

5420 DANIELS STREET STE A, CHINO CALIF. 91710 - (800) 634-9166 - (909) 628-4722 - FAX (909) 591-2198

www.yoshimureca-rd.com

Butt Connector Installation:

1. Strip wire ends 1/4” - 1/2” and insert into
BN-SSS-22-18, butt connectors.

2. Center the spliced wire ends in the middle and
using a heatgun or lighter, apply heat evenly on
the outer edges of the butt connector to shrink
and hold wires in place.

3. Making sure that the stripped ends are centered,
heat the center of the butt connector evenly until
the solder begins to liquify.

4. Allow to cool completely and tug both ends of the
wires to verify that connection is secured.

Scan for link to butt connector instruction video.

Butt Connector Installation:

1. Strip wire ends 1/4” - 1/2” and insert into
BN-SSS-22-18, butt connectors.

2. Center the spliced wire ends in the middle and
using a heatgun or lighter, apply heat evenly on
the outer edges of the butt connector to shrink
and hold wires in place.

3. Making sure that the stripped ends are centered,
heat the center of the butt connector evenly until
the solder begins to liquify.

4. Allow to cool completely and tug both ends of the
wires to verify that connection is secured.

Scan for link to butt connector instruction video.




(-) doelg -
(+) pay \L
] / . INN Jaysepn [eubis uiny 37
G Im_,\v “uonouny
wUCM _.h—m Jadoud J10J X08yo pue _mcm_w uin} Jo0auUu0d-al pue ||ejsul-ay 9

"Jo8Ys JO opIs 8slonal
uo suonoNJIsUl BuIMO||0) SI0}08UU0D NG paljddns |jeisul °G

sbury dug alipy

| |

"SaUIM

JeubBis uiny 3203s ay) uo salim (-) aanebau pue (+) aanisod
auIWIB)aP 0} }SB) pUE J0}OBUUOD [eubls UINn} J0BUU0IRY {7
" — v spus aam dug ‘g

‘a|qissod se g|ng 8y} 0} 8S0j0 Sk salim [eubis uiny %00}s
8Uj} 1D “10J0BUU0D [eubis UIN} X00)s 8} 8snal 0} Joplo U] g

"sjeuBis uiny 300}s 8y} SA0WY ‘|

lled 1epjos

(-) doerg

(+) poy

sbury dug alipp

|

i

/ INN IBYSEM jeubis uing @31
Z/ — ¥,
G Q:\r ‘uonouny
spu3j aus Jadoud Joj 309y pue [eubis uin} }08UU0D-8. PUE |[BISUI-9Y 9

'Jo8ys JO opIs aslonal

uo suononJsul Buimol|o} s1ojosuuod 3ng payddns jjeisu| 'g
"SUIM
_ Jeubis uiny 3001s a8y} uo salim (-) aaizebau pue (+) aanisod

lleg 1epjos

suIWIB}ap 0} }$8) puUk J0}o8UU0d [eubis UIN) }08UU028Y ‘{7
" — W4 spus aam dus ¢

"a|qissod se g|ng 8y} 0} 8s0|0 Se saJim [eubis uin} ¥00}s
3y N0 “10J08UU0D [euBIS UIN] 00]S 8} 8snal 0] Jop.o U] g

's|euBis uiny Y00}s ay} SAOWSY ‘|

10D PA-ANIIYSOA MMM

86127165 (606) X4 - 222829 (606) - 9916-v€9 (008) - 01216 HIT¥O ONIHO 'V 1S 13FHLS STIINVA 0ZvS
"ONI ‘VOI¥ANY 40 LNFWJOTIAIABHOHYISTY

VINWIKISOR

BI0D PA-RANIIYSOA MMM
8612-165 (606) Xv4 - 221829 (606) - 9916-v€9 (008) - 01216 41TV ONIHO 'V IS 133HLS STAINVA 02¥5
"ONI ‘'VOI¥INY 40 LNIWJOTIAIABHOEYISIY

VINWIKISOR

2

INN Jaysep [eubis uing Q37
</ — Vv
<7 Q:\F ‘uonouny
spu3 duis Jadoud Joj ¥ooyo pue [eubis uin} J0BUUOD-81 pUE |[B}SUI-OY 9

"Jo8ys JO 8pIS 9SIonal
uo suononJisul Buimojjo} s1ojoauuod 3ng palddns [jejsu| ‘g
sbury dug alipy solm
_ — Jleubis uiny %003s ay} uo salim (-) anizebau pue (+) m>z_moa
auIWLIB)ep 0} }S8) pUE J0JOBUUOD [eubls uIN} J0BUU0DSY "t
"%~ 4 spus aam dig g
‘a|qissod se g|ng 8y} 0} 8soj0 Se salim [eubis uiny %00}
8y} 1D “10}08UU0D [eubis UIN} 320)s 8y} 8snal 0} Japlo U] g

‘sjeuBis uiny 001s 8y} AOWRY ‘|

lleg J8pjos

sbury dug alipp

|

e

NN Jaysepp

leubig wing @37

=
spug dg

‘uonouny

Jadoud Joy oayo pue [eubis uin) }08UU0D-B] pUE ||B}SUI-OY ‘9
"Jo8ys JO opIsS aslonal

uo suononJisul Buimol|o} s10joauuod Jing payddns jeisu| °g
'SaIIM
_ |eubis uiny ¥203s ay} uo salim (-) aaebau pue (+) aaisod

lleg Japjos

au|wWs}ep 0} }$8) pue 10}oauuo9 [eubis uin} }oaUu098y
Y — &4 spus aam duis ¢

"a|qissod se g|ng 8y} 0} 8S0|0 SE saJIMm [eubis uiny %00}s
8y N0 10}08UU0D [euBis UIN} ¥00}S 8U) 8snal 0} Joplo U] g

's|euBis uiny }00}s 8y} SAOWSY ‘|

=~RANIIYSOA MMM

8612-165 (606) X< - 222+-829 (606) - 9916-€9 (008) - 01216 HITYO ONIHO ‘v 3LS 1ITMLS STAINVA 02vS
"ONI ‘VOI¥3NY 40 LNFWJOTIAIABHOHYISIY

VINWIIRSOR

810" PA-BANIIYSOA MMM
8612-165 (606) X4 - 22.7-829 (606) - 9916-7€9 (008) - 01216 HITVO ONIHO 'V 3LS 13341S ST3INVA 025

"ONI ‘VOIYINY 40 LININJOTIAIABHOHVYISIY

VINWIIRSOR




	Page 1
	Page 2

